
42 I put it on crochet cap and ruffle cravat

FINISHED SIZE
Cap: About 20" (51 cm) circumference.
Cravat: About 51⁄2" (14 cm) wide and 26"
(66 cm) long.

YARN
Chunky-weight (CYCA Bulky #5) yarn.
Shown here: Debbie Bliss Cashmerino
Superchunky (55% merino wool, 33% micro-
fiber, 12% cashmere; 82 yd [75 m]/100 g):
Cap shown in #10 deep rose and #15 tan;
Cravat shown in #10 deep rose.

HOOK
Cap and Cravat: size P/16 (11.5 mm). Cap
edging: size H/8 (5 mm). Change hook size if
necessary to obtain the correct gauge.

NOTIONS
Stitch marker (m); tapestry needle.

GAUGE 
Cap: 10 sc and 13 rnds = 4" (10 cm)
worked in the rnd using larger hook.
Cravat: 11 sc and 13 rows = 4" (10 cm)
worked in rows using larger hook.

CROCHET CAP AND RUFFLE CRAVAT

Note
See Techniques, page 114, for basic crochet instructions.

Cap
With larger hook, ch 3. Join with a sl st to form a ring. Using a marker
to indicate end of each rnd and repositioning marker as necessary, cont
in rnds as foll: 
Rnd 1: Ch 1 (counts as 1 sc), work 7 sc in ring, join with a sl st—8 sc.
Rnd 2: Ch 1 (counts as 1 sc), sc in top of starting ch-1 of previous rnd,
2 sc in each st of previous rnd, join with a sl st to top of ch-1 at beg of
rnd—16 sc.
Rnd 3: Ch 1 (counts as 1 sc), sc in each sc of previous rnd.
Rnd 4: Ch 1 (counts as 1 sc), sc in top of starting ch-1 of previous rnd,
2 sc in each sc of previous rnd, join with a sl st to top of ch-1 at beg of
rnd—32 sc.
Rnd 5: Ch 1 (counts as 1 sc), sc in each sc from previous rnd.
Rnd 6: Ch 1 (counts as 1 sc), *2 sc in next st, 1 sc in next st; rep from *
to starting ch-1, join with a sl st to top of ch-1 at beg of rnd—50 sc.
Cont sc in rnds, working ch 1 at beg of each rnd, 1 sc in each sc, and
joining end of each rnd with a sl st, until piece measures 51⁄2" (14 cm)
from beg. 
Edging: Change to smaller hook and sl st to top of beg ch of previous row.
Ch 4, [skip 2 sc, 3 dc in next st] 16 times, skip 1 sc, 2 dc in next st, join
with a sl to 2nd ch of ch-4 at beg of rnd. Fasten off. 
Weave in loose ends.

Cravat
With larger hook, ch 4, sl st into first ch to form ring. Cont as foll:
Row 1: Ch 2, work 10 dc in ring. Turn. 
Row 2: Ch 2, [dc in dc of previous row, ch 1] 10 times, dc in last st of pre-
vious row, sc in center of ring. Turn. 
Row 3: Ch 1, [4 hdc in next ch-1 space (sp), sc in next sp] 5 times, ch 3,
sc in same space as last sc—1 motif completed. Turn.

042_OS.qxd  4/28/06  11:24 AM  Page 42


